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OstwaldFarben O, Y\y=100
M, max (m) Buntwert, D65
Normfarbtafel (X, y)
o2P0 Name und Spektralbereich
Ry 561 _770 Y, 520 770
Lm Gy 475 573 G, 380 561

X=95,04,Y,=100,00Z,~108,89 B,

x4=0,3127y,,=0,3290 L0
Ao=(@g-[80,*a0,y*30 1) Y.
Bo=(bo[bo,r+bo,y*+bo,gdf Y @

ag =agg [x/y] 65
b = byo [z

5753, 380 520 M, 573 475 4
ay =1, byp=-0,4 A
1 1 Lo
n=D65 4o ' 40
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
a,,=0,000,5,,=0,000 r 34
a9 4=0,000,b5,4=0,000
CIE 1931 x OstwaldFarben O, Yyy=100 6
max (m) Buntwert, D65 T-40
0,6 0.8 10 Buntwert (Ag, Bg)
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¥y=0,3127y,,=0,3290 %y=0,3127y,,=0,3290 00
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8 =ay[(x-0,179] g5 2y = a0 [(x=0,17D/y] 4
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a3 4=0,000,b; 4=0,000 a 4=0,000,b,,4=0,000
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X,=95,04Y,,=100,00Z,~108 89 B, X,=95,04.Y,,=100,00Z,~108:89 B,
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